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mg £ mg £ mg 2 2
1 00 nl 0 0 12 12 7
2 © 12 7 45
3 0.01 0.001 0.001 4 2 7 8 2
4 0.0005 0.00005 0.00005 4 2 7 8 2
5 0.01 0.001 0.001 4 ” 2 7 8 2
6 0.0 0.001 0.00L 4 4 7 [e]uf2
7 0.01 0.001 0.001 4 2 7 8 2
8 0.05 0.005 0.005 4 2 7 8 2
9 0.01 0.001 0.00L 4 4 7 [s]uf2
10 10 0.4 0.9 2 7 8 2
1 0.8 0.08 0.08 4 2 7 8 2
12 1.0 0.1 0.1 4 4 7 [s]u]2 KBREICLT.
13 0.002 0.0002 0.0002 4 2 7 8 2 BERBIECLD.
41,4 0.05 0.005 0.005 4 4 7 |8 u]2 e
51,1 0.02 0.002 0.002 4 *1 2 7 8 2 BRI
16 1,2 0.04 0.004 0.004 4 2 7 8 2 HESNTLET,
7 0.02 0.002 0.002 4 2 7 8 2
18 0.01 0.0005 0.0005 4 2 7 8 2 &= “ O
T o | ooe | owm | ;[ 7 [ s [ AR R UERR PR
2 0.01 0.001 0.001 4 2 7 8 2
2 0.02 0.004 0.002 4 4 s5[suf2
2 0.06 0.006 0.006 4 4 58 nf2
P 0.04 0.004 0.004 4 4 58 |uf2
2% 0.1 0.01 0.001 4 4 HERE 100 50 3.3
> 0.01 0.001 0.001 4 4 58 |uf2
2% 0.1 0.01 0.0 4 4 58 |uj2 1,400 240 2.7
z 0.2 0.02 0.02 4 4 5|8 |uf2
P 0.03 0.007 0.003 4 4 5 8 |ul2 1,50
» 0.09 0.009 0.009 4 4 HERE
Y 0.08 0.008 0.008 4 4 5 8luj2 37 1,80 6 2,00 2.0
3l 1.0 0.01 0.0L 4 2 7 8 2
2 0.2 0.02 0.02 4 4 7 8 |u] 28 9,20 940 0.3
£ 0.3 0.0 0.03 ” 2 7 8 2
% 1.0 0.0 0.02 4 > 7 8 2 18 9,110 3 3,570 21.6
£ 20 9.5 10.8 4 2 7 8 2
% 0.05 0.005 0.005 4 2 7 8 2 1,70 10 0.6
3 20 13 1 12 12 7
38 ( 300 40 54 4 2 7 14 0,500 3,200 2.3
2 500 81 17 4 *1 4 7
40 0.2 0.02 0.02 4 2 7 11 4,590 2 0,680 15.3
4 00000 0.00000L 0.00000L v 678 7
2 |2 00000 0.00000L 0.00000L 678 7
3 0.02 0.002 0.002 4 4 7
44 0.005 0.0005 0.0005 4 * 2 7 % E *E *ﬁ (B1)
%5 ( T0C ) 5 0.3 0.3 12 12 7
46 | pH 5.8 8.6 7.2 6.9 © © 7 2RSS
a1 12 12 7
48 12 12 7
49 5 1 1 12 12 7
50 1 0.1 0.1 12 12 7
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